
       20132014 
01        

 
 

H2O2


(S)V = 500mL0,08mol/L0= H2O2
= 12°Cθ

O25min


4035302520151050t(min)

300288270252228192138720V(O2) (mL)

X(mmol)
[ H2O2] ( mol/L)

1H2O2/H2OO2/H2O2
2
3xmax
4Vm = 24 L/ mol
5  )(22 tgOH 
6H2O2t1=10 st2=30 s
t1t2

7  )(22 tfOH 

8 θ’ = 50°C
 22OH












 

أساتذة المادة بالتوفیق 



       20132014 
01        


1H2O2/H2OO2/H2O2 
)(2)()(22 222 laqaq OHéHOH   

éHOOH 22222   
)(2)(2)(22 22 glaq OOHOH  

2 

)(2)(2)(22 22 glaq OOHOH   
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xtxtn 20  
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4
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( mol/L)

5  )(22 tfOH t  
6H2O2 
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 
7
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[  H2O2]=f(t)
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